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a$ cfl stffi tqa vdqsw 1 aioor t r

All Questions are compulsory and each question is of 1 mark.

qlit qmql C 061'- ri} ++ Md t d*E? a1;as 5l qru t t

only Engtish version is valid in case of difference in both the languages.

1afuear siir : 30

[Maximum Marks : 30

(ii)

1. firdo+{rsrcFr*,sq * t
(a) +iq{v&
O) \rcEFTfr{cvdhe
(c) +rl$ a-*-e
(d) +fr+.v*-c

qf, +t q-&rdT *,1 6Rq t
(a) *tffiqq(&-c
(b) ffit{rqq Q+e
(c) +li{cc qdfld+cqd ar*e
(d) lgtff €-fr

qf, fuirq tq dtdr qt sr{iq €rFrffiq

Scr t
(a) qs fu.ur.r*e{
(b) lOs fr.ur./rftdf,

(c) tts lc.m.rdrt
(d) lzS fr.ur.Ffrdf,

1. Alum is chemically
(a) Copper sulphate

(b) Aluminium sulPhate

(c) Ferrous sulphate

(d) Ferric sulphate

2.

J.

2. Hardness of water is caused due to

(a) Calcium sulphate

(b) Magnesium sulphate

(c) Calcium bicartonates and nirate

(d) All the above

The maximum permissible hardness

for water supplies is

(a) 95 mg/lit
(b) 105 mg/lit
(c) 115 mg/lit
(d) 125 mgllit

P.T.O.

J.
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CC2OE

4. vcrfi um kr{q Etrd { sdiRl-r qgq

€td t
(a) {5r
(b) Tfr

(c) ill?iltt

(d) *d{

5. €ld t q+ +i tq ETnq.rq tscrr{ fri
e.64 t
(a) fuie{

O) E++.

(c) qdw
(d) E{if t 6ti'Tfi

Fr-+r + firdrq qr+ + qr*r fq{ qt

61m*t, e-6t

(a) riffirc{

(b) pHIFTEFT

(c) t'T

(d) Bq{iffi H'fi

qe t+rqur cEqttrfl ii eqtFfr qre wi
q{r{ftrfuqqrA't, ctt
(a) crsq+ds

O) qrc*+s
(c) cnqf,rfi +sqt tE rr
(d) ffik€qr

dFrrrFr ii qfrq& * mnur ,rE + qtqci

+1 urc' ffi'srE c*tr if kqr qrtr t r
(a) $un=t$

(b) {iT-nEhE
(c) \.d-q
(d) qlffiqr€

7.

8.

(2) 2017

Most common surface water suPPlY

source is

(a) Sea

(b) River

(c) Pond

(d) Lake

The device installed for drawing

water from sourc€s are called

(a) Filters

(b) Intakes

(c) Aquifers

(d) None of the above

The dosage of coagulant dePends

upon

(a) turbidity

(b) pH value

(c) colour

(d) all the above are correct

Air relief valves in water supply pipe

line are provided at

(a) pipe bends

O) pipe joints

(c) summits

(d) low points

In order to consider te,rrPerature

changes, metal pipes are usually
provided with

(a) Expansion joints

O) Contraction joints

(c) Anchorage

(d) Pressurereliefvalve

5.

6.

7.

8.
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s. k€ hfu * q+*isr {ffi 6r (&
3r1cn toqr qr u+s$ oer qrar t
(a) etryrffiqqf;rfrfrI
(b) qfirfuqf;rfrfrr
(c) q'cfrqktqfu

(d) uTsiq frtu

t0. qrtdq qfifiPxfd{ii d cfrk{'nfr ftt stq,

3flErsqiffitcrq: *St
(a) 2s *c{
(b) 40Ffrd{

(c) 70*.{
(d) 13s frd{

siqsq+rr qrd qr+ f iEAw 6i €r{fo

+cr *-e t
(a) zt sfrfrqq

O) sttomfrqq
(c) to t ts *frqc
(d) lst20mfrqq

siqqrfr i fr.d.S. 6i 3r{fu qm **
qrf6q

(a) {[q
(b) 100frfiqc

(c) tso fifiw
(d) 2oofrffiqc

ilirseo{q t*. il lth qri erd qr* mr

Qart<oq{q o.ramr t
(a) 3{q-cr6HEI

(b) !ffiftr+ud
(c) +nH$r{mzt
(d) rssrr&t r

12.

13.

(3) 2017

By which method we can calculate

accurate estimate of the increase in
population is called

(a) arithmetical increase method

(b) geometrical increase method

(c) incremental increase method

(d) graphical method

In tndian conditions the dailY

domestic need of water is generally

(a) 25lit
(b) 40lit
(c) 70lit
(d) 13s lit

The permissible limit of turbidity of
water for domestic use of

(.) 2to5ppm

O) 5 to 10 PPm

(c) 10 to 15 PPm

(d) 15 to 20PPm

The permissible limit of B.O.D' in

domestic water should be

(a) Zerc

O) 100 ppm

(c) 150 PPm

(d) 200PPm

The theoretical time of detention of

water in sedimentation tank is called

(a) Basin Period

O) DaentionPeriod

(c) Settling Period

(d) All are correct

9.

10.

11.

12.

13.

P.T.O.
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t4. qr**'sqqn+T cenq(t
(a) firflql Er F6-+r

(b) roe*+.<ur

(c) EFI;II

(d) t'nf{r{rr

ls. w{+r{a si ffir{ii t {qr+ *. frq
frwqur k{ t qFIfi ffitfu fuilnr
enrctrrrt
(a) infrqf,tfrFffi{ur

(b) qrqr dfrFrfr{q
(c) qrq q*{t++rur

(d) rcnffi ii t 6tt T6T

16. tflsltq?lEl-ftCIq: *f,r t
(a) Hrfu
(b) s<r+{
(c) 3rFfrq

(d) 7 pH HFrarer

17. dqt iJ t*-inr wf vilS *'r rrq:
qrar i t
(a) 0.1*./*.

(b) 0.2 fr.it.

(c) 0.4*./t.

(d) 0.8s fr;t.

t8. ffiafo qti +tcwffi Tffti si
t Fcri qi cffqr +edfl* t
(a) YJkq..{ur

(b) dfrtrhm
(c) fffiq-{
(d) fr+daxq

fr+{

(4) 2017

First step of water treatment is

(a) Mixing and coagulation

(b) Sedimentation

(c) Filtration

(d) Disinfection

For the protection from diseases to

public, mixing of chlorine more than

breaking point is called

(a) Super chlorination

(b) Plain chlorination

(c) Post chlorination

(d) None of above

Fresh sewage is usually

(a) Alkaline

(b) Neufral

(c) Acidic

(d) has pH value of 7

The self cleaning velocity normally

adopted for sewers is

(a) 0.1 m/sec.

O) 0.2 m/sec.

(c) 0.4 m/sec.

(d) 0.85 m/sec.

The process of removing suspended

and colloidal matters from sewage is

called

(a) Purification

(b) Clarification

(c) Suspension

(d) Dewatering

14.

15.

16.

t7.

18.



20.

21.

)',

23.
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19. ffi qe-qe tqqr +.r glfirdr-iqq fin
q{q srq. qfirs-en ere di t
(a) q+'q$

(b) s q{

(c) 10 sti

(d) 20 e{

tffi *' am-< qrq: m'q{rt qri t t
(a) Rt+e (b) ffid
(c) ffii et-6r (d) {srd

tqqffidtq +i cr{r m-romr t
(a) q;a-qiil 3rr$+-{ur

O) qftsqrm

(c) qtqc-{ttidflT

(d) duu$ilttr

*.st.S. t dril{ t
(a) erqidtkom ffi{fuqis
(b) <rql+fir*-d sTrcqtfi tscis

(c) ffifiFil'dtfw{t{ aiu6q4 fqis
(d) E{it t 6t{ Efi =rtT t r

firaii srfir$i{td, dtt
(a) *s
(b) tffrlst

(c) tr*-S

(d) td

{f, Bq-rm qt ctrcr it +{ S ts rrrq
fst:
(a) Trrfr"H

O) ffiqr
(c) qadasr$snffir{s

(d) or-d{ffiffirEs

24.

(s) 2017

While designing a sewerage sYstem

the span ofdesign period is generally

taken as

(a) one year

(b) 5 years

(c) 10 years

(d) 20 years

litanhole covers are usually made of
(a) cement O) wood

(c) cast iron (d) steel

Killing of pathogenic organisms is

called

(a) Endogenousoxidation

(b) Liquidation

(c) Pasteurization

(d) Disinfection

B.O.D. means

(a) Biological Oxygen Demand

O) Biochemical OxYgen Demand

(c) Bacteriological
Dernand

Oxygen

(d) None of these are correct

Grit is composed mostlY of
(a) Grease

O) Paper

(c) Wood

(d) Sand

The gas produced during sludge

dissection is

(a) Nitrogen

(b) Oxygen

(c) Carbon dioxide

(d) Carbon monoxide

19.

21.

22.

23.

P.T.O.
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zs. t{k'T ts€{ { fir cfuqr tt-fr t z

(a) e"rfr$6{ur
(b) df*+. ntx'qr

(c) trnu1arvn qfuqr

(d) smmfr

26. f{Er t t qi{ qr r}r srcr qfufr +fi t z

(a) at+Yi{s
(b) ilflmqT

(c) qo-srufq ifq{r
(d) TAfisr

27. qra mlte C+.+g) IIr.l: t*qr*' ffiq qrA

tz
(a) {*rff{
O) 2drsta
(c) qifrdq

(d) siFtd 5q{rs

28. gqir.ntiil-.iit
(a) rIFtsI?t *'ner6iHqt*,
(b) ele ala d{ + rer6 Bi ef,firr s{+

*.fttq r

(c) rrtttel t qw rqrc +t lH +
ftqr

(d) qr *-er<r a et-d{ g'tE Tff iii +
r&r+o+*feq r

q+ + ,irr Et fu€ m ERr rflqr qrdr

tz
(a) dtT€qr++sIItIRrR
(b) 6ft;rq-si-n€ffiq{
(c) pnffiw
(d) {rficlmw
rt?t.td an ftfrtqUw tor
(a) {fq
(b) t t+c
(c) t * <r+t
(d) I t srftrs'

29.

30.

(6) 2017

What process is involved in a

trickling fitter ?

(a) Chlorination

O) Biological process

(c) Disinfectionprocess
(d) All the above

Which of the following disease is not
considered as water born ?

(a) Typhoid

(b) Jaundice

(c) Bacillary dynasty

(d) Malaria

A water closet is commonly made of
(a) Stoneware

(b) Terracota

(c) Porcelain

(d) Glazed earthenware

Traps are provided to

(a) stop flow of sewage

O) separate the flow of liquids and
solids

(c) avoid back flow of sewage

(d) prevent the escape of foul gases

inside and outside the house

The colour of water is measured on

(a) Wavelength basis

(b) Platinum-Cobalt scale

(c) pHscale
(d) Rockwell scale

The specific gavity of sewage is

(a) zero

(b) less than 1

(c) equalto I
(d) greaterthan 1

25.

26.

27.

28.

29.

30.
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PUBLIC HEALTH ENGI]VEERING

tstfqraqsio':70
[Maximum Marks : 70

qb,
Note:

(i) wvenr ltFrirdi-, Yirydd ffifu*wrE?ffi'r
Question No. I is compulsory, answer any five questions from the remaining.

(ii) sd6sw#mf ,rri 4] ifitqr qqsw ad fu r

Solve all parts of a question consecutively ngether.

(iii) sd€sw+li+d. ?sdrnrrr dfqq t

Start each question on afresh page-

(iv) Ei:# rrsr3ri d errralt 41 ferfrtC afdql aflq d? ctq t r

only English version is valid in case of dffirence in both the languages.

{fuq it stn*firi :

Answerbriefly:

(i) erfir+w+ ora

Design period

(ii) trdda
Seal in trap

(iii) a;6p6a qs
Ventilating shaft

(iv) 'n* 
if €NJfu11* r*n

Types of impurities in water

(v) qa futnur corcfr +'dqrss*'c-s'R

Types of layout of water distribution systern

(7)

1.

(2x5)

P.T.O.

a

2017

P\R'I-II



cc208 G) 2017

z. (i) q-+,,ffi am or €fsr quh ofirq r

Describe a manhole with sketch.

(ii) ffi-s *1 ARr- FffirS q"nfuit or qoic q;fti 
r

Describe different drainage systems of sewerage. (6+6)

3. (i) qf, fud{ur qwifr if +a;q 6t rrff drri + ilfr+ Hqr s+ t+-i *'scrc wr+i t

Describe methods of leakage detection in water supply system and its preventive

measures.

(ii) tr art+ t qri ii qr* mr ftAEflr H t6qr qdr t r qfu{ qrgeA t

How water connection is being tapped from main line for houses ? Explain with
sketch. (616)

4. (i) 6n to lwer 6 qFr* qqgr{i 
1

Explain rapid sand filter with sketch.

(ii) €h ++t, 6rd, Et6r nqr *ntadqr+Twd ffieE r

Describe properties of stoneware, cast iron and concrete sewers. (6+6)

5. fr*arr+ EFT tTqiur A;t ffiqr qnr t r flqfirq qrq qrrsrgi I

How sewer line is being constructed ? Explain different steps. (12)

6. (i) \"rMs $ria qrEq * arrr rur Erh ftH r

Write merits & demerits of Asbestos cernent pipe.

(ii) qm yfur+ uundt +r dirnze-{r6{w+i tRmfffiqrcit sr {iR+a quf{ 66ftt r

Draw layout of water treatment plant and describe its activities briefly. (6+6)

7. {Rrqffiflafut 
'

Write short notes :

(i) wf{r'I t+.
Flushing tank

(ii) vr+ +t dr sfr Eqkil Hfr frla

Water demand per capita per day

(iii) +qtfrrc
Catch basin

8. rqt'r{ntTr if qn*a* 6iqt-+d+t qffiffic crdr +t ila +tqfr t r sretrg+ r

How optimum dose of coagulant is deternined in laboratory ? Explain. (12)

(ax3)


